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Intel 8086

Intel 8086 was launched
in 1978.

It was the first 16-bit
MIicroprocessor.

This microprocessor had
major improvement over
the execution speed of
8085.

It is available as 40-pin
Dual-Inline-Package
(DIP).
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Intel 8086

It is available in three
Versions:

- 8086 (5 MHz)
- 8086-2 (8 MHz)
- 8086-1 (10 MHz)

It consists of 29,000
transistors.
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Intel 8086

It has a 16 line data
bus.

And 20 line address
bus.

It could address up to
1 MB of memory.

It has more than
20,000 instructions.

It supports
multiplication and
division.
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Pin Diagram of Intel 8086

Vss (GND)
AD14
AD13
AD12
AD11
AD10

AD9S
AD8
AD7
AD6
ADS
AD4
AD3
AD2
AD1
ADO
NMI
INTR
CLK
Vss (GND)

OnNnnnnonnnnnonnnnnnnnnnin

1 ~ 400
2 300
3 s
4 370
5 36 O
6 350
7 34 0
8 330
9 320
10 gg 3103
11 gg 30d
12 20 3
13 28 30
14 27 0
15 26 [
16 25 3
17 24 []
18 23 3
19 223
20 213

Vee (5P)
AD15
A16/S3
A17/54
A18/S5
A19/S6

HOLD
HLDA

MO
DT/R

DEN

ALE

INTA



Pin 16-2, 39 (Bi-directional)

These lines are multiplexed bi-
directional address/data bus.

During T,, they carry lower
order 16-bit address.

In the remaining clock cycles,
they carry 16-bit data.

AD,-AD- carry lower order byte
of data.

ADg-AD,: carry higher order
byte of data.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 |02 39l AD15
AD13 |03 38 [0 A16/S3
AD12 |[] 4 370 A17/s4
AD11 |05 36 [0 A18/S5
AD10|[]6 35[0 A19/56
AD9 |07 340 BAE/ST
AD8 |08 330 MNMX
AD7 |09 3200 RD
AD6 |C]10 g 31 [ RY/ET0
as|0t © QR RQGTT
AD4 |0 12 200 TOCK
AD3 |13 280 2
AD2 |1 14 vidn S5
AD1 015 60 S0
ADO |7 16 250 Qso
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



A19/Se, A1g/Ss, A17/S 4, AgelSs

Pin 35-38 (Unidirectional)

These lines are
multiplexed unidirectional
address and status bus.

During T4, they carry
higher order 4-bit address.

In the remaining clock
cycles, they carry status
signals.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 (] A16/S3
AD12 []4 37 0| a17/s4
AD11 05 36 (| A18/S5
AD10 []6 35 (1] 419156
AD9 07 340 BHE/S7
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI 17 240 qs1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



BHE / S,

Pin 34 (Output)

BHE stands for Bus High
Enable.

BHE signal is used to
indicate the transfer of data
over higher order data bus

(D8 y D15)-

8-bit I/O devices use this
signal.

It is multiplexed with status
pin S-.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 350
ADY O7 34 Q| BAE/ST
ADS []8 33 [ Yt
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso

NMI 17 240 qs1

INTR []18 230 TEST

CLK []19 220 READY
Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



RD (Read)

Pin 32 (Output)

. 4 Vss(GND) 1 ™  40[0 Ve (5P)
It is a read signal used for “wude  spos
. AD13 O3 38 [0 A16/S3
read Operat|0n. AD12 L4 70 M7ISH
AD11 O5 36 [0 A18/S5
. ] AD10 [6 351 A19/56
It Is an OUtpUt Slgnal. ADY 7 241 FEST
ADS s 33 [ _MNMX
. . . AD7 OO 32[0|RD
It is an active low S|gnal. s 10 & sIPFEET  HoLD
AD5 [ 11 g 300 RQGTT HLDA
AD4 12 20 [IOCK ¥R
AD3 013 280 2 MO
AD2 []14 vidn ) DTR
AD1 15 60 S0 DEN
ADO []16 2500 Qso ALE
NMI 17 241 QS1 INTA
INTR []18 230 TEST
CLK 019 22| READY
Vss (GND) []20 21[] RESET




READY

Pin 22 (Input)

This is an acknowledgement

signal from slower I/0O
devices or memory.

It is an active high signal.
When high, it indicates that

the device is ready to
transfer data.

When low, then
Mmicroprocessor is in wait
state.

Vss (GND) [

AD14 [
AD13 [
AD12 [
AD11 [
AD10 [
ADY [
AD8 [
AD7 [
ADS [
AD5 [
AD4 [
AD3 [
AD2 [
AD1 [
ADO [
NMI [
INTR [
CLK [

Vss (GND) [

o ~ O s L) R —

11
12
13
14
15
16
17
18
19
20

8086

o4

39
38
37
36
33
34
33
32
A
30
29
28
27
26
25
24
23
22
21

| I [ Iy NN gy NNy NNy NNy NNy BN gy BNy BNy NN gy E

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



RESET

Pin 21 (Input)
It Is a system reset.
It is an active high signal.

When high,
Mmicroprocessor enters into
reset state and terminates
the current activity.

It must be active for at
least four clock cycles to
reset the microprocessor.

Vss@GND) 1 ™ 40
AD14 []2 300
AD13 O3 38
AD12 [ 4 370
AD11 O5 360
AD10 []6 35[0
ADS 7 |
ADS []8 30
AD7 09 20
AD6 []10 g 310
AD5 11 g 00
AD4 12 200
AD3 13 20
AD2 []14 2700
AD1 015 %[
ADO []16 250
NMI [ 17 241
INTR []18 30
CLK 019 2

Vss (GND) []20 210

Vee (5P)
AD15
A16/S3
A17/54
A18/S5
A19/56
BHE/ST
MNAMX

=)
L

o
2
G
=
[

o
£
Q)
=

22 9 9yl s
] g

—]

EST

el
e
-]
—<

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



INTR

Pin 18 (Input)

. . Vss(GND) 1 ™ 40

It is an interrupt request I
i AD13 O3 %
Slgnal. AD12 []4 37
A1 Os %

i ) i AD10 6 %

It Is active hlgh AD9 07 Y
AD8 [8 3

) i AD7 09 2

It is level triggered. pegio 8
s gn 9

aD4 12 2

AD3 13 28

aD2 14 77

AD1 15 %

A00 016 2

NML 317 24

INTR | 18 3

et 19 2

Vss (GND) []20 2

1 Vee (5P)
] AD15

0 A16/S3
1 A17/54
[ A18/S5
[ A19/56
1 BAE/S?
] MNMX

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



NMI

Pin 17 (Input)

. Vss(GND) 1 ™ 40

It is @a non-maskable ougs
) . AD13 O3 3
Interrupt Slgnal. AD12 L4 37
a1 s %

) i ) AD10 6 %

It iIs an active hlgh AD9 7 Y
AD8 []8 23

) i A07 0o 2

It is an edge triggered oo @
) asgu ©
Interru pt aadz ©
AD3 13 2

AD2 14 27

AD1 15 %

ano 16 %

Nl | 17 24

R 18 3

cLK 19 2

Vss (GND) [ 20 2

1 Vee (5P)
] AD15

0 A16/S3
1 A17/54
[ A18/S5
[ A19/56
1 BAE/S?
] MNMX

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



TEST

Pin 23 (Input)

It is used to test the
status of math co-
processor 8087.

The BUSY pin of 8087 is
connected to this pin of
8086.

If low, execution continues
else microprocessor is in
wait state.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 24 O rast
INTR []18 23 0ITEST
CLK []19 22 0 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



CLK

Pin 19 (Input)

This clock input provides
the basic timing for
processor operation.

It Is symmetric square

wave with 33% duty cycle.

The range of frequency of
different versions is 5
MHz, 8 MHz and 10 MHz.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 30 MNIMX
AD7 o 32 RD
AD6 []10 g M[A R _QG_
As 01 © QR RQGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 240 QS1
INTR_[]18 230 TEST
CLK [119 220 READY

Vss 20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



Ve and Vge

Pin 40 and Pin 20 (Input)

Vc is power supply signal.

+5V DC is supplied
through this pin.

Vs is ground signal.

Vss (GND)

KD
AD13
AD12
AD11
AD10
ADS
AD8
AD7
AD6
AD5
AD4
AD3
AD2
AD1
ADO
NMI
INTR
CLK

Vss (GND)

01 “ 408
2 300
O3 380
[ 4 370
05 360
6 35[0
07 140
s 30
0o 20
E10 g 313
11 30
12 & 200
13 280
14 2700
015 paln
[]16 250
017 240
18 30
019 20
] 20 210

Vee (5P)

45

A16/53

A17/54

A18/S5

A19/56

BHE/ST

MNAMX

RD

RQGT0  HOLD
RQGTT  HLDA
OCK  WR
7] MO
5] DTR
=] DEN
QS0 ALE
S1 INTA
TEST

READY

RESET



MN / MX

Pin 33 (Input)

8086 works in two modes:
Minimum Mode

Maximum Mode

If MN/MX is high, it works
iINn Minimum mode.

If MN/W( is low, it works
IN Maximum mode.

Vss(GND) 1 ™ 40
AD14 []2 39
AD13 O3 38
AD12 []4 37
AD11 5 3%
AD10 []6 35
ADS 7 34
AD8 []8 3
AD7 9 32
AD6 []10 g 31
AD5 [ 11 g 30
AD4 []12 29
AD3 13 28
AD2 []14 27
AD1 15 %
ADO []16 25
NMI 17 2%
INTR []18 23
CLK 19 22

Vss (GND) []20 21

1 Vee (5P)
] AD15

0 A16/S3
1 A17/54
[ A18/S5
[ A19/56

] RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



MN / MX

Pin 33 (Input)

Pins 24 to 31 issue two
different sets of signals.

One set of signals is issued
when CPU operates in
minimum mode.

Other set of signals is
issued when CPU operates
in mMaximum mode.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADS 7 341 BHE
ADS []8 33 :||MN1W
AD7 09 R [ARD
AD6 []10 g 31 [ RY/ET0
As 01 © QR RQGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



Pin Description for
Minimum Mode
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INTA

Pin 24 (Output)

This is an interrupt
acknowledge signal.

When microprocessor
receives INTR signal, |
acknowledges the
interrupt by generating
this signal.

It is an active low signal.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31[] RQ/GT0  HOLD
AD5 11 g 30 RAGTT  HLDA
AD4 12 20 [IOCK ¥R
AD3 013 280 2 MO
AD2 []14 vidn S5 DTR
AD1 15 60 S0 DEN
ADO 116 250 Qso ALE
NMI [ 17 240 QS1 INTA
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET




ALE

Pin 25 (Output)

This is an Address Latch

Enable signal.

It indicates that valid
address is available on bus

It is an active high signal
and remains high during T,

state.

It is connected to enable pin
of latch 8282.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI 17 240 qs1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET




DEN

Pin 26 (Output)

This is a Data Enable
signal.

This signal is used to
enable the transceiver
8286.

Transceiver is used to
separate the data from the
address/data bus.

It is an active low signal.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 O5 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 30 MNIMX
AD7 o 32 RD
AD6 []10 g M[A R _QG_ HOLD
AD5 11 g 30 RAGTT  HLDA
AD4 12 20 [IOCK ¥R
AD3 13 280 2 M0
AD2 []14 vidn S5 BFR
AD1 15 60 S0 DEN
ADO 116 250 Qso ALE
NMI 17 240 QS1 INTA
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET




DT /R

Pin 27 (Output)

This is a Data
Transmit/Receive signal.

It decides the direction of
data flow through the
transceiver.

When it is high, data is
transmitted out.

When it is low, data is
received in.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 30 MNIMX
AD7 o 32 RD
AD6 []10 g M[A R _QG_
As 01 © QR RQGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

DTR
DEN
ALE

INTA



M/ 10
Pin 28 (Output)

This signal is issued by the
microprocessor to
distinguish memory access
from I/O access.

When it is high, memory is
accessed.

When it is low, I/O devices
are accessed.

Vss (GND) [
AD14 [
AD13 [
AD12 [
AD11 [
AD10 [
ADY [
AD8 [
AD7 [
ADS [
AD5 [
AD4 [
AD3 [
AD2 [
AD1 [
ADO [
NMI [
INTR [
CLK [

Vss (GND) [

o ~ O s L) R —

11
12
13
14
15
16
17
18
19
20

o4

8086

39
38
37
36
33
34
33
32
A
30
29
28
27
26
25
24
23
22
21

1 Vee (5P)
] AD15

0 A16/S3
1 A17/54
[ A18/S5
[ A19/56
1 BAE/S?

] RESET




WR

Pin 29 (Output)

. 4 . 56 g ce
It is a Write signal. 9. 4.4
AD13 O3 B A16/53
. . ; AD12 [ 4 37 [0 A17/54
It is used to write data in D1 5 361 A18/S5
. AD10 []6 351 A19/36
memory or OUtpUt device ADY 7 241 FEST
. ADS []8 330 MNMX
depending on the status of wdy «fim
— A . AD6 []10 g 310 RYGT0  HOLD
M/IO Slgnal. as g1 9 [ RG]
AD4 12 20 OCK | WR
. . . AD3 13 280 2 MO
It is an active low S|gnal. A2 14 7h o DTR
AD1 15 60 S0 DEN
ADO []16 25[7 QS0 ALE
NMI [ 17 240 QS1 INTA
INTR []18 230 TEST
CLK 19 221 READY

Vss (GND) 020 210 RESET




HLDA

Pin 30 (Output)

It is a Hold Acknowledge

signal.

It is issued after receiving
the HOLD signal.

It is an active high signal.

Vss(GND) 1 ™ 40
AD14 []2 39
AD13 O3 38
AD12 []4 37
AD11 5 3%
AD10 []6 35
ADS 7 34
AD8 []8 3
AD7 9 32
AD6 []10 g 31
AD5 [ 11 g 30
AD4 []12 29
AD3 13 28
AD2 []14 27
AD1 15 %
ADO []16 25
NMI 17 2%
INTR []18 23
CLK 19 22

Vss (GND) []20 21

1 Vee (5P)

] AD15

0 A16/S3

1 A17/54

[ A18/S5

[ A19/56

1 BAE/S?

] MNMX

1 RD

1 RQGTG

0 RGGT] HLDA |
] IOCK  WR
1 52 MO
1 ST DTR
0 S0 DEN
] QS0 ALE
0 Qst INTA
1 TEST

[ READY

] RESET




HOLD

Pin 31 (Input)

When DMA controller
needs to use address/data

bus, it sends a request to
the CPU through this pin.

It is an active high signal.

When microprocessor
receives HOLD signal, it
issues HLDA signal to the
DMA controller.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [] RQ/GTL HOLD|
AD5 11 g 300 RQGT]
AD4 12 20 [IOCK ¥R
AD3 013 280 2 MO
AD2 []14 vidn S5 DTR
AD1 15 60 S0 DEN
ADO 116 250 Qso ALE
NMI [ 17 240 QS1 INTA
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET




Pin Description for
Maximum Mode
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QS, and QS,

Pin 24 and 25 (Output)

These pins provide the
status of instruction

queue.
0) 0)
0) 1
1 0
1 1

No operation

1st byte of opcode from queue
Empty queue

Subsequent byte from queue

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 12 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 15 26 S0
ADO 116 25l Qso
NMI 17 24 1] as1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



SO’ Sl’ SZ

Pin 26, 27, 28 (Output)

These status signals
indicate the operation
being done by the
MIiCcroprocessor.

This information is
required by the Bus
Controller 8288.

Bus controller 8288
generates all memory and
I/O control signals.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 30 MNIMX
AD7 o 32 RD
AD6 []10 g M[A R _QG_
As 01 © QR RQGTT
AD4 112 29 [ _IOCK
AD3 13 23|52
AD2 []14 vidn| 5
AD1 Q15 26|50
ADO 116 250 Qs0
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



= = B O O O O

R BB O O = = O O

R O B O - O = O

Interrupt Acknowledge
I/O Read

I/O Write

Halt

Opcode Fetch

Memory Read

Memory Write

Passive

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 OO 3200 RD
AD6 []10 g 31 [ RY/ET0
AD5 11 g 303 RQYGTT
AD4 112 29 [ _IOCK
AD3 13 23|52
AD2 []14 vidn| 5
AD1 Q15 26|50
ADO 116 250 Qs0
NMI 17 240 Qst
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



LOCK
Pin 29 (Output)

This signal indicates that
other processors should not
ask CPU to relinquish the
system bus.

When it goes low, all
interrupts are masked and
HOLD request is not
granted.

This pin is activated by using

LOCK prefix on any
Instruction.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 [0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
AD8 18 30 MNIMX
AD7 o 32 RD
AD6 []10 g M[A R _Q/G_
AD5 11 8 30 0 _RQIGTT
AD4 12 20 0| TOCK
AD3 013 280 s2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA



RO/GT, and RO/GT,

Pin 30 and 31 (Bi-directional)

These are Request/Grant
pins.

Other processors request the
CPU through these lines to
release the system bus.

After receivinE the request,
CPU sends acknowledge
signal on the same lines.

RQ/GT, has higher priority
than RQ/GT,.

Vss(GND) 1 ™  40[0 Ve (5P)
AD14 ]2 390 AD15
AD13 3 38 0 A16/S3
AD12 []4 370 A17/s4
AD11 05 36 [0 A18/S5
AD10 []6 35[0 A19/56
ADY O7 340 BAE/ST
ADS []8 330 MNMX
AD7 o 20 R0
ADS 10 g 31 QIRQ/GTO
AD5 11 g 30 | RQ/GTT
AD4 112 200 TOCK
AD3 13 280 2
AD2 []14 vidn S5
AD1 Q15 60 S0
ADO 116 250 Qso
NMI [ 17 240 QS1
INTR []18 230 TEST
CLK []19 220 READY

Vss (GND) [J20 21 [ RESET

HOLD
HLDA

MO
DTR
DEN
ALE

INTA
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